Honors Precalculus
Chapter 7 PRACTICE TEST

Name:

Per:

Use an additional sheet, if necessary, to show your work

2. Solve by substitution or elimination.

[Tnbnile solubons| = some line

1. Solve by substitution or elimination.
2x—3y=-13 4x+3y =0
y=[2x+7] 2 (2x —y)=0(z)
o Hx+3y =0
2% -3(2x+t) =713 s2(ayp N =0 Ix+3(0)=0
TR Gy =0 4x +0=0
Li _ 8 \/ e -L{ +} 5 ? ﬁ:g
-Yx = ) Y= LN y=0 4 4
X = X =0
[(-2.3)] [(09)]
3. If you are solving a system and the following 4. You are offered two sales jobs. One offers an

happens, what do you conclude?

a) You get a statement that 4 = 4.

a\gfbmi(«\\j
b) You get a statement that -2 # 6

iNo Selukb ow- ) = parille| lines that 8(322 = O(.)(:)%SSX
never Cross - _ 0
\ veall (000,000 = X
ki You need 4o sell more than 600,000 £ “tL"dn,il’;b

annual salary of $55,000 plus 1.5% of your yearly
sales. The other offers $52,000 plus 2% of your
yearly sales. How much do you have to sell in
order for the second to be a better deal?

X =Yearly Sales

55,000 + 0.015x = 52,600+ 0.02x

5. Use back substitution to solve.
x—7y+8z=-14

y—9z =126
z=-3
N-9CDN=26 | x-3C)8(D)=H
Y+23 =26 X+3}-24 =19
y=-I X - 1#="19
=5

(3 -1 ,-%)

6. Get the following to Row Echelon form.
2x +6z=-9
3x—2y+11z=-16

o) 3x—y+7z=-11
KZ‘K3 QKL @ 1R+ K:',—’ Ry
2x +oz=9 Ix +Gz=-9
. -Y+HdE ==
-\ +4YE: 5 = -5
5x opesl e EZ
%K\—ZRS—)K3 - 3(° .
=-9 2x +or =7
SpE e B
- -6 2= -1.26
7-\/+L'% o Would Solv Yhrowwgi

badl subshtuhw .

o~

M-

7. Write the following as an augmented matrix and
then use a calculator to get it to RREF to solve it.

8. Let A and B be the matrices shown. Find the

2x +6z=-9
{3x—2y+112=—16
( 3x —y+7z=-11
xY Z 3
- -03%
0 G 9 )} 00
T k| refM=joro o
L -3 -l 00V -125]

%
(-035 o,-:.zsﬂ
X Y 2

following:
5 4 8 2
Az[—z 9 Bz[—4 o]
B+A A-2B
5§ 4 e A
1% G -Lcil‘[-g O-X
-6 14

e




9. LetAandB be the same matrices as in Problem
8. Zx?.
a) Find AB. [_6 ] [
5(5)+4(H4)  5()+4(0)
7 03 51 =

< (g)fq(l’ Z(l)*q(

If= X B = A4, find matrix X.

22(5) 225

10. Let A be the same matrix as in Problem 8.

a) What are the dimensions of amatrix Kif A- K =
L and the dimensions of matrix L are 2 X 5?

AK:L K'uS 2«5

b) Provide dimensions for a matrix D so that A - D is

undefined.
A makrix whee fhe number of rows

b)
R
Z(%X) -Z@"'g) X Z(C‘: \b 6 lf ,(30\( D is not 22 weild Le uv\dcf\v\ed
X= 2A+ZP§ X=2 . 4 [tn, 13 Example: 1€ D wag %7
2(A+8
11. Find the inverse matrix for matrix T. 12. Show the matrix you found in Problem 11 is the
a b inverse of matrix T.
5 - I O
r=le; é TIW'=[¢|]
0( '.19 _|_ 3-2|(5 | _ /| O
T“ad\oc 1 5|[#3 '[01}
A - 3 '52 \ 1S5+ 14 G+C6 :[ ]
T Tl s 37 [ss+9) s ,
2.9
M [0 L‘i] =

14. State the determinant of the following matrix and

13. Use an inverse matrix to solve the following
system of equations and show your steps.

whether that indicates it has an inverse or not.

2x+ 3y =-10
4x—y=1 _ [12 4
Wik a8 o madnX e quadiva frst M < [_9 _3]
lo
[ ][71 [ 1 der(M) = 12(-3) = 9¢9)
BA X =NB . -3+ 36
I
X=‘A\ _\%{ det(M) - O
Ve a o o (05 3)) S det+(M) =0, M does not hare
X=|-3| 2 2y an e se.
15. The flow of traffic (in vehicles/hr) through a netwoJrk of streets is shown. Solve the
system and provide a possible traffic flow. X, X3 X3 ¥q Xg ] 600
40+ X =X, =460 (1 -1 0 0 0 400
)%, =A000, ‘s =600 | 0 I -1 0 @0 -
1) X, Xy = Xy + 6060 M L'/oo o 0O I | 100
2 Xyt Xg =100 Xy ¥Xs = O I 101l 300
Xy + X+ Xg® 360 L -
H) X +xg+Xg = 30D e ge+
5 X, =00 ~X37Xs  5ick “x, and Xs,
] 01 61 30 ' P 2
rYQ‘C CM} = Ol1 ol 300 | )(z: 30°‘X3-X5 X3 =100
000 1 I 100 Xy = (00 =Xg Xg =50
O60600 ©




